Potencias de 10 (H)

7,281+ 103

9,651 =103

2,409 =103

3,682+ 10°

6,37 =103

2,663+ 103

0,288 = 103

0,685+ 103

6,478 +10°

6,452 = 103

Calcule los siguientes cocientes.

0,495 103

8,782 = 10°

5,51+ 103

1,903 +10°

6,431+ 103

8,766+ 103

0,808 = 103

5,436+ 103

2,747 +10°

1,903 = 10°

MatesLibres.Com




Potencias de 10 (H) Respuestas

7,281+ 103
0,007281
9,651 = 10°
0,009651
2,409 =+ 103
0,002409
3,682 103
0,003682
6,37 = 10°
0,00637
2,663+ 103
0,002663
0,288 = 103
0,000288
0,685+ 103
0,000685
6,478 = 103
0,006478
6,452+ 103
0,006452

Calcule los siguientes cocientes.

0,495+~ 10
0,000495
8,782 +10°
0,008782
5,51 =103
0,00551
1,903 = 10°
0,001903
6,431+ 10
0,006431
8,766 + 103
0,008766
0,808 = 10°
0,000808
5,436 = 10°
0,005436
2,747 +-10°
0,002747
1,903 =103
0,001903
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